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1. Value of

3 Gl l2 5| will be: 3. Co-factors of matrix A:[_z 31 will
4114 -5 4
be:
A9
-4 -5
(A) |-3 -2
(B) 12
(45
® |33
(C) 18 4 §5
o3 5
o) -4 5]
DY |-
(D)} 20 -3 2
4. What should be added to each term of
4 -36 i
2. IfA—[3 1 4],ﬁnd At
the number 10, 18, 22 and 38 to make
4 3
Ay _63 i the numbers in proportion?
- [4 36 (R) 2
314
| (B) 4
3 4
© |1 -3
4 61
(D) l—3 3 41 (D) 8 °
18098\R\2023 [3) P.1.O.
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5. Which of the following is greater ratio? 7.  Find the value of SC,+C,

3:4 and 4:5 \ (A) 10
(A) 3:4
(B) 9
_(B) 45
(C} 8
(C) Both (A) & (B)
oy

(D) None of the above

- 8. For matrix addition is true:

. 6. The inverse of matrix exists when:

(A} Commutative Law

(A) |A[=0
. _ (B)- Associative Law
(BY |A|=0
(© 1AI=1 (C) Cancellation Law
(D) A=l (D)--Afl of the ahove
18098\R\2023 _ [4]
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g. ssIfx:7: : 5:4, find the value of x:
(A} 5.75
(B) 6.25
(C) 7.50

__(D) 875

10. In an examination, 50 candidates were -

passed and 10 candidates were failed.

Find the ratio of passed and failed

candidates:
—{A)5:1
(B) 1.5
(C) 4:5.
(D) 5:4
11. Whlat sum will amount of Rs., 33_, 075in
two years at 5% per annum compound
interest.
(A) 10,000%
(B) 20,000°
) 30,0007

(D) 40,000%

18098\R12023

- 12,

What will be the simple interest on Rs.

8,000 for 6 years at an annual rate of

5%?
(A) T 600

(B) 1800

e

13.

14.

(5]

_(C)- % 2400

(D) None of these

Find the-value of Yp,.

&) 7,920

.[B) 7,420

(C) 5,920

(D) 9,420

In how many ways can the ward
"BANKER" be rearranged?_

(A) 120

(B) 420

_{&y-720

(D} 1020

P.T.0.
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15. Formula for calculating Compound
Amount when interest is compounded
annually:

- 2t 7
(A) Amount=P|1 + 100

. - I
_ (B): Amount=P|1 + 106

_ P
(C) Amount=R|1 + 100[

- L
(D) Amount=R|1 + mo]’
16. The ratio between the number of boys
and girls in a class is 1:3. If number of

boys is 11, then the total number of
students in class is:

(A) 22

(BY 44

(C) 66

(D) 88

180981R12023

[6]

17.

In how many ways 8 persons can sit
around the dircular tabte?

(A) 5040

(B) 5060

(C) 5080

(D) -None of these
i

18. If 36 men can do a certain piece of

work in 25 days, then in how many
days will 15 men do it?

(A) 40 days
JAB) 60 days

(C) 70 days

(D) 80 days

19. Value of *°C_ is equals to:

-

{AY 120

-

(B) 80

(C) 160

{D) 40

https://www.ccsustudy.com
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20.

21.

22.

Aman took a loan of 218,000 for 5
years at a stmple interest, If the total
interest paid is Rs. 3600, what is the
rate of interest per annum?
(A) 2%
(B) 4%
(C) 5%
(D) 9%.
How many words can be 'ma‘de by 25
consonants and 5 vowels where it has
2 consonants and 3 vowels.
(A) 1,20,000
(B) 2,40,000
(C) 3,60,000
(D) 4,30,b0[}
The tabular form of the set:
P={x:xeN, x<6}, will be:
(A) P={1,2,3,4,56} ‘
(8) P={0,1,2,3,4,5,6}
-{Cy" P={1,2,3,4,5}

(D) None of these

180981R\2023

23, Log,10=7
| (A) O
FORS
(C)
(D) None of these
24. If A={1'2'3'4'_5}' B={4,5,6,7,8},
C={7,8,9,103}, D={10,11,12,13,14},
then AuB?
Ay {1,2,3,4,5,6,7.8}
.(B) {1,2,3,4,5,4,5,6,7,8}
(C) {4,5}F
(D) Nene of these
25. log (1+2+3)=?
(A) logl+log2+log3
_ (B) loglxlog2xlog3
(C) log(1x2x3)

(D) None of these

https://www.ccsustudy.com



26. If A={1,2,3,4,5}, B={2,4,6,8} and 29. Find the true discount and the present

C={3,5,7}, then: - worth of 275 due in two years hence
=7
AU(BuC)=1 simple interest at 5% per annum.
_A11,2,3,4,56,7,8}
’ (A) True  discount=20, Present

(B) {1i213f5r?}: | ’
worth=255 -

(©) {2,4,6,8} .
(B) True  discount=15, Present
(D) None of these .
| worth=290
27. A man bought a watch for Rs.80

and sells for Rs. 120 then, the profit (©) Truef discount=25, Present

percentage will be: worth=250
(A) 25% (D) None of these
“__(_BJ- ;50% 30. Three partners A, B, C invest Rs.
(C) 75% 34706, Rs. 267000 and Rs._10,000"
(D) 100%

respectively in a business. Out of the

28. A person bought a cycle for Rs. 360.
total profit of Rs. 17,500 A'S share (in

For what price should he sell it to gain

rupees) is:
15%"?
) 404 (A) 8750
(B A4 B 8500
(C) 424 (C) 7500
(D) 434 (D) 3750
18098\R\2023 (8]
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31. The ratio of the ages of father and son 34, Zerois!
at present Is 611, After 5 years , the (A) A natursl number

ratio will become 7:2, The present age
” A whole number
.--'W

of the son IsyQ)
(C) A positive integer

LAY years
(B) 6 years (D) A negative Integer
(C) 9 years 35, Today Is Monday After 61 days It-will
(D) 10 years  be

32, In10 . l
n 10 years, A will be twice as old as B (A) Wednesday

was 10 years ago. If A is now 9 years
) ' By~ Saturday
older than B, the present age of B Is:

-~ (C) Tuesday
—{A) 19 years
(B) 29 years (D) Thursday
(C) 39 years /6. January 1, 2023 was Sunday. Then
(D) 49 years

January 1,2024 falls on the day:

33. The least prime number Is: e
«(A) Monday

(A) 0
. (B) Saturday
(B) 1
. (C) 2 (C) Sunday
(D) 3 (D) None of these
18098\R12023 [9]
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37. What will be angie between the two  40. A can do a piece of work'in zﬂ.da\;s_ If

hands of a clock at 9:507 B.Is 60% more efficlent than A then

(A) 10°©
the number of days required by B tg
4By 50 '
iece of work is®
(C) 150 do the same piece of work is:
D) 200 (A) 12
38." At what time between 1 O'dock and
_(ByT5

2 Q'clock, will the hands of a clock be -
together? €) 17

__,(Aj"'STSTmin. past 1 (D) 18

11 .
(B) 5% -min. past 2 41. A man walks at the rate of Skm/hr for

(C) 6 min, past 1
’ & hours and at 4 km/hr for 12 hours.
(D) S%Lmin. past 2

The average speed of th-e man (in k
39. 24 men can complete a given job in 40 ge sp n (in km/

days. The number of men required to

hr) is: -

complete the job in 32 days, is: (A) 4
~{A)Y-30 :

(B) 43

(B) 32
1
(C) 34 (© 43
(D} 36 (D) 4%
1809B\R12023 [10]
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42. A man cycles at the rate of 15.6 kmph. 45. The true discount on a bill of Rs. 540 is

How many meters does he cover In 2

minutes?
(A) 31.2
(B) 260
. (C) -520

(D) 5200

Rs. 90. The banker's discount Is:

(A) Rs. 108

(B) Rs. 150

(C) Rs. 180

(D) Rs. 110

43. One side of a rectangular field is 4

meters and its diagonal is 4 meters.

The area of the field is:

(A) 12m?
(B) 15m?
JLC)—20m?

(D) None of these

46. The function f(x)=x2+4n+4 is:
(A) odd
(B} even
(C) neither odd nor even _

(D) periodic

44, If the side of a square is increased by

25%, then how much percent does its

area get increased?

(A) 125
- (B 156.25
(C) 50

(D) 56.25

180981R\2023

47. Which of the following is irrational?
(R) V479
(B) 4/5
© V7

(D) V81

https://www.ccsustudy.com
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48. If a*=b, then: 51. The H.C.F. of two numbers is .23 and
(A) log,*=a the other two factors of their Loy
log *= *
®) °9,'=b are 13 and 14. The larger of the twq
_ [C} ~|'Dg.b=:x
) numbers is:
(D) None of these
49. Statement:-Some actors are singers. (A) 276
All the singers are dancers. (B) 299
Conclusions:
. %(_:C}_ 322
-~ (1) Some actors are dancers
‘ S (D) 345

(2) No singer is actor

52. Three number are in the ratio o'f 3:4:5
{A) “Only (1) conclusion follows :

(B) Only (2) conclusion follows and their LCM is 2400, Their H.C.F. is:

(C) Either (1) or (2) follows ——kAY-40
(D) Neither {1) nor (2) follows - (B) 80
30. Statements: All the harmeniums are (© 120
instruments. All the instruments are .
(D) 200
flutes. .
_ 53. The greatest number of four digits
Conclusions:
~#1} All the flutes are instruments which is divisible by 15, 25, 40, 75 is:
A2) All the harmoniums are flutes % 500
(A) Only (1) conclusion follows (B) 900C
.{BY" Onfy (2) conclusion follows
| (C) 960¢
(C) Either (1) or (2) follows
(D) 940¢

(D) Neither (1) nor (2) fqllc-ws
18098\R12023 [12]
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54. Atrain running at the speed of 60km/  57. A boat can travel with a speed of 13

hr crosses a pole in 9 seconds. What Is km/hr In still water. If the speed of the
the length of the train stream Is 4 km/hr, find the time taken
(A) 120 metres by the boat to go 68 km downstream.
(B) 180 metres (A} 2 hours
(C) 324 metres _. ,.{\B;‘ -~ hours
. (D) 150 metres [i:) 4 hours
55. A train 240m long passes a pole in 24 (D) 5 hours

. 's speed with the current is 15km/
seconds. How long will it take to pass 58. Aman'sspeedw

d the speed of the current is
a platform 650 m long? hour an P
2.5km/hour. The man's speed against
TA) 65 seconds /

the current is:
(B) 89 seconds

(A) 8.5 km/hour
(C) 100 seconds

. (B) 9km/hour
(D) 150 seconds _ -

_ {C) 10 km/hour
56. Two trains are running in opposite

(D) 12.5 km/hour
directions with the same speed. If the

59. ‘A boat running downstream covers. a
length of each train is 120 metres and _ ‘
distance of 16 km in 2 hours while for
they crass each other in 12 seconds, _ _
: covering the same distance upstream,
then the speed of each. train (in km _ .
P ( / it takes 4 hours. What is the speed of

hir) Is: ‘the boat in still water?
. (A 10 (A) 4 kmph
(B) 18 (B) 6 kmph
- {C)—B6 (C) 8 kmph
(D) 75 (D) None of these
18098\R\2023 [13]
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60. What decimal of an hour is a SeCcons

—

61.

62.

(A) 0.0025
(B) 0.0256
(©)-8.00027
{D) Naone of these

The value of

0.1x0.1x%0.1+40.2x0.2%0.2 .
0.2x0.2%0.2+ 0.04x0,04%0.04 IS

£A}-0.0125
(B) 0.125

(C) 0.25

65.

(D) 0.5

0.009 - 9.0

(A) 0.0009

(B) 0.09

(C) 0.9

(D) 9

180981R\2023 | -

64.

3889+12.952-7=3854.002
(A) 47.09°
(B) 47.752

(C) 47.932

«(D}~47.95

A girl walks Northward then turns left,
then right and then left after walking
some distance each time. In which
direction is she from the sta rting point?

(A} North-East

- (B) North*West

(C) South-West
(D) South-East
A clock is so placed that at 12 noon

its minute hand points towards North-

_East. In which direction does its hour

hand point at 1:30 pm?

(A) North

}B}-’South '

[-f.) ‘East

(D) West

https://www.ccsustudy.com



66. If South-East becomes North, North-

East becomes west and sor~ - what will
west become?
At

4
(A) South-East

(B) North

‘JKijE'ast
,LQ}'N orth-West

Directions (Q.No. 67-69):

Study the

following information

carefully and answer the questions

67,

given below: https://www.ccsustudy.com

M,D,P,K,R,T and W are sitting around a
circle facing at the centre. D is second
to the right of P who is third to the
right of K.. T is third to the right of W
who is not an immediate neighbour of

D. M is third to the left of R.

18088\R\2023

69.

[15]

Who Is second to the right of T7
(A) D
(8) K
(C) M

(D) None of these

. In which of the following pairs is second

person sitting to the immediate right of

the first person?

(A) DT

(B) TP

(C) PR

(D) KW

Who is to the immediate left of R?

(A) W

(B) P

(C) K

(D) T

hitps://www.ccsustudy.com



70. Radha, Sheela,

Mahima and Seeta

are sitting around a rectangular table.

Radha is to the right of Sheela.Mahima

s to the left of Seeta. Which of the

PErsons given in the options are sitting -
Opposite to each other?

(A) Sheela-Seety

(B) -Radha-Seeta

(C} Radha-Sheela

(D) Mahima-Radha

71. Directions: (Q. 71-72)
Following questions are based on the
five three digit numbers given below:
519, 364, 287, 158, 835
If the positions of the first and the
third digits within each number are
interchanged, then which of the
following will be the third digit of the
sacond lowest number?
(A) 9
(B) 4 '
(Cy 7
[PY5

180!38\!2\2023

72.

73.

Which of the following is the differencﬁ
between the second digit of the loweg
and the highest of these numbers; .
(A) 3

(B) 1

(C) 2

(D) 0

How many times are the hands of 3

clock is at the right angle in a day?

Plgr:

(B) 24
(C) 44

(D) 48

74. Find the number of row ang column in

[16]

the following matrix:

8

9

10

11

A 4 rows 1 column
(B) 1 row 4 columns

{C} 2 row 2 columns

(D) None of these

https://www.ccsustudy.com



75. Classify
5
-1

2
3

[5LRUW Matrix
87 Column Matrix
(©) Identiry Matrix
(D) None of thesa
76. Classify the following Matr
100
010
001
(A) Row Matrix

(B) Column Matrix
~ L(;).-—ﬂdentify Matrix
(D) None of these

77. Directions : Q-(77-78)

5 4 _[to
If A=[3 ZI and B_—I2 5},

find:- [A+B]

(A) [‘1‘ _43]
o[t
©) [g 3]

(D) None of these

13098\R\2023

the fallowing Matrix.

X

78. Find

AT |

(B)
@

(D)

o on
-~ B

[A-B]:

woun
[0 N

oo

1
2

79 IfA= [g gl find: 4A+21

-5

' 2 0
(A) 0 2,
145
®) |g 7
18 ZU]
—4e |24 20
[1 0
®) o1
(023 _[563
80. If A-[Z 1 4} and B—L 4 5]' find

the value of 2A+3B,

(A)

(B)

(©)

10 12 6
2 8 10

'0451
428| .

1518 9
3 1215

15 22 15
4@)’1

[17]

7 14 23
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llowing determina
81, IfA=|! 2L “I 83. Evaluate the fo
31
56
01
(A) Lo (A 13
(B) 14
. B8)
22 (C) 15
(D) None of these
© |42
84. Directions: Data given below shows
(D) None of these ‘number of girls in six different schoolg,

Some data is given in absolute valye

82. Isthe foliowing matrix comforta while some in percentage Study

the data in pie-chart and answer the
the product of AB?

questions from 84 to 88.

0
=[1-123],p= ;
13
(A) Yes
Find the central angle of girls in school
(B) No ‘ B.
(A) 5?.65
(C) May be .{B) 64.80
(Cy 720
(D) None of these (D) 79.20

18098\R\2023
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gs. Total number of giris in schooy 'D'ishow  B87. If ratio between number of girls and

. e is 9:8,
much more than tota| number of girs in number of boys i schoo! .F N

" school 'E'? then find total number of students in

school 'F'.
(A) 264
. (A) 561
.[B) 297 .
(B) 550
(C).330 (C) 528
(D) 363 (D) 539 ‘

_ ' 88. Total number of girls in school 'C’
86. Find the total number of girls in school

is what percentage less than total
'A' and 'D’ together?

number of girls in school ‘A’

(A) 1364

(A) 33.33%
(B) 1386 B) 25%
(C) 1408 | ' (C) 75%

i (D) 50%
(D) 1452
18098\R\2023 - [19]
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89. Study the bar chart given below and 9.
answer the gquestions from 81 to 85.
Percentage of households using various
appliances in 2 years:

104 ] 0
50+ B=4 2010
80+
m-
60+
501 ¢
404
. 30T
20+
104
0 Z
TV Refrigerator Washi
By what percentage is the households
that used T.V. more than the households
that used refrigrator in 2010: 92.
(A) 5%
(B} 5.55%
{C) 5.75%
(D) 6%
 90. By what percentage do the car users
rise in the two-years:
(A) . 9.99%
(B) 3.33%
(C) 6.33%
(D) 6.67%
[20]

1f the household popuiation s 1y,
milion In 2010, how many usey
washlhg machines?

(A) 96 milllon

(B) 95.2 mlilion

(C) 95.8 million

(D) 96.2 million

If thle household population 1s 128
milllon in 2010, how many more people
used T.V. than a Car?

(A) 19.2 million

(B) 18.8 million

(C) 19 million

(D) 19.4 million

https://www.ccsustudy.com



g3,

. %4

Which of the appliances nas the lowest
rate of increase from 2009 to 20107
(A) TV

(B) Washing Machine

{C) Refrigerator

(D) Car

Study the following Bar Chart and the

data table to answer the question from
86 to 90 given below them:

Number of students in g colleges

l: Number of students

4750

=

T

5000 -
45001 4300
4000 + []
3500 +
3000 +
2500 -
2000 +
1500 +
1000 +
500 +

3800 3600

2900 —|
. 2300

1 2 3 4 5 g

% of Boys and Girls in 6-Colleges

Boys% | Girls%
54 46
58 42
64 36
72 28
45 31
51 49

How many more boys than girls are

on U b [ |[B =

there in college 3?
(A) 822
(B) 802
(C)y 792
(D) 812

18098\R12023

95,

96.

[21]

irls in
What is the averagé number of girls

all the colleges?

(A) 1485

(B) 1487

(C) 1483

(D) 1492

Which college has the minimum

- number of boys?

(A) 2

(B) 3

(© 5

(D) 6

https://www.ccsustudy.com



97. What percentage of boys in college 4

98,

are the boys in college 1?

(A) 68.7%

{B) 66.8%

(C) 67.8%

£D) 69%

If the number of boys in each college is

reduced by haif and the total number

- of students in all the colleges remain

the same how many girls will be there

in all the colleges together?

(A) 12850

{B) 15820

€y 15280

(D) 18520

4 6
= 4 then find the value of x_
99, If '_2 x| 4
(A) -2

(B) -4

(D) +4
100. Matrices [150 gl is
__{A)"Singular

(B) Non—Singular

(C) Both (A) & (B)

(D)} None of the above
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